EI0FEHEARFLE

Al ‘/7°ﬂ§ ) —

JHEREX 15

_7“

FBRKE | mebexs| ThtEis | TEAE | nrcere| fMILKSE | REtxs| ansoxe AL JIE {52
A 3B 1M,
_ |E: - - - 4 - 3|6 - 1|6 - 1|3 - 4
fa i K= I 19
bR - . - |17 - 13|25 - 5|27 - 3|15 - 13| 8 &
s 3 B 1K
1| % - - - 5 - 2|5 - 2|6 - 1|3 - 4
PRFERKXE ZEaEs 19
Bbm| - - - |18 - 11|18 - 9|2 - 5[13 - 14| 13 A
A 2 B 2 ;|
N . |E: - - - 3 - 4|3 - 4|4 - 3|4 - 3
s BRI y
Bhm| - - - |13 - 15{12 - 20[17 - 1213 - 17| 55 &
A 1 B 2 &
. | % - - - 2 - 53 - 4|4 - 3 -
S e R 2 .
Bhm| - - - 8 - 21|14 - 14|19 - 14| - a1 ;A
A 2 B 2 ;|
%8| 3 - 4|2 - 5|4 - 3|5 - 2 - - -
AAREXRZE BRI 14
Bt |13 - 17|11 - 1815 - 13|21 - 8 - - - 60 &
A 2 % 2 &
X %|1 - 6|2 - 5[4 - 3|4 - 3 - - -
LK BRI 11
S m |5 - 259 - 18/20 — 1214 - 14| - - - 48 &
A 0 M 4
. $|1 - 6|1 - 6|3 - 43 - 4| - - _
mat K A :
sb |3 - 275 - 24|12 - 17|14 - 19| - - - 34 &
A 2 1 K
&4 - 3|4 - 3|3 - 4 - - - -
JUM T KRF I 11
b = (13 - 15(14 - 13|17 - 13| - - - - 44 5




FHRIFHEBARFLELRI O TMF)-JTHBEREK 18—

BETE K | mmemas | suskiy | RIBRE| B Tt oa
R 2 % 0 B
- BRI - |4 - 3]4 -3
ESlricp, = 8
2y o= - 16 - 1417 - 12 33 =
I 0 B 1 B
CBRE - 3 - 4 -
BT R RKFE 3
2y o= - 11 - 19 - 11 =
1 B 1 B
BFlE s - 4|4 - 3 -
HEIL =R K= 7
FHE /|14 - 16[19 - 11 - 33 A
I 0 B 1 B
o BRI S - 4] - -
KIEXK=E 3
FE /12 - 17 - - 12 A




